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Read the instructions and do as directed.                              

I) Read the questions carefully and circle the correct option.                           

1) The Place Value of 5 in 2,52,763 is 

(a)  5,000                  (b) 500                         (c) 55,000                   (d) 50,000 

2) (5 x 0) x 9 =  

(a) 45                       (b) 0                            (c) 450                       (d) all of these 

3) Which among the following is NOT a reflection of itself? 

                                                                   

 

4) The product of 345 and 100 is 

(a) 34500                  (b) 3450                       (c) 345000                 (d) 0 

5) The part of a line which extends endlessly on one side is a 

(a) ray                      (b) line segment             (c) point                    (d) angle 

6) Which among the following shapes has only two lines of symmetry? 

 (a)                             (b)                                (c)                             (d) 

7) Which part of the circle is half of the length of its diameter? 

(a) Sector                   (b) Centre                    (c) Circumference       (d) Radius 

8) Ten thousand more than 3,93,800 is 

(a) 3,03,800               (b) 4,03,800                 (c) 3,94,800               (d) 4,93,800 
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II. Do as directed. 
 
1. Match the following. 
 

Column A Column B 

1) Six lakh eighty-five thousand a) 33,009 

2) Thirty-three thousand nine b) 6,08,500 

3) Six lakh eight thousand five hundred c) 3,03,009 

4) Three lakh three thousand nine d) 6,85,000 

  
     Ans: 1)-___; 2) _____; 3)-_____; 4) - ____ 
 

2. Read the statements given below and state whether True or False. Write T or F 

in the space provided. 

a) A line segment has two endpoints.  

b) A circle can have only two diameters.  

c) A triangle is a polygon with six sides.  

d) A circle is a closed figure.  

 

3. Use the code given below and decode the message that follows. 

A B C D E F G H I J K L M 

1 2 3 4 5 6 7 8 9 10 11 12 13 

 

N O P Q R S T U V W X Y Z 

14 15 16 17 18 19 20 21 22 23 24 25 26 

             
 Message: 12 5 1 18 14 9 14 7     13 1 20 8    9 19    6 21 14 
 

 Decoded message: __________________________ 

4. Observe the picture of the circle given alongside and complete the statements.  

                              a) The centre of the circle is at ____. 

b)  Line segment AB is the _______ of the circle. 

c) A point on the exterior is ___. 

d) Line segment OB is a ______.                                                               

O 
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5. Complete the patterns. 

(a)           

 

(b) 2 5 8 11     

 
6. Read the story sums given below and identify the operation you should use to 

find the correct answer. Put the correct sign (+, – or, x) in the box. 

a) 350 gift boxes were donated during a School Charity Fete. If each gift 

box has 10 gifts in it, how many gifts were donated in all? 

 

b) Class 4 students donated 120 notebooks and 150 pencils. How many 

items did they donate in all?     

 

c) Ms. Reena baked 45 cookies and 60 brownies for the fete. How many 

more brownies did she bake than cookies? 

 

 

7. Choose the correct option and complete the statements. 

a) A diameter divides a circle into two equal parts called__. (radii/semicircles) 

b) A square has _____ lines of symmetry. (2/4)  

c) A ___________ does not tesselate. (circle/rectangle) 

d) Polygons with four sides are called ______. (Pentagons/Quadrilaterals) 

 

III. Solve the following. 

1. Arrange and add. 3245 + 9087        2. Subtract 4532 from 7211 and find the 
difference. 

                                                              

 

 
  
 
 
 
 
 
 

     

 3 2 4 5 

 9 0 8 7 

     

     

 7 2 1 1 

 4 5 3 2 
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3. Find the product. 
a)                                                                   b)   
                                                              

  
   
 
 
 
 
 

 
 
 
 

4. If one box can hold 6 pens, how many pens will there be in 2485 such boxes? 

_________________________________________________________________________  

_________________________________________________________________________     

____________________________________________________________________________ 

____________________________________________________________________________ 

_________________________________________________________________________ 

 
 5. Linda bought a laptop for ₹ 28,450. If she gives ₹ 30,000 to the shopkeeper, 

how much money will he return to her?  
 

_________________________________________________________________________ 

_________________________________________________________________________ 

___________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

____________________________________________________________________________ 

     

 2 8 9 4 

×    8 

     

     

     

   7 9 

  × 3 5 

     

     

     


